John 1:1
Luke 20:31



 is the continuative use of the conjunction KAI, meaning “and,” followed by the nominative subject from the masculine singular article and ordinal adjective TRITOS, which means “the third (brother).”  Then we have the third person singular aorist active indicative from the verb LAMBANW, which means “to take: took.”


The aorist tense is a constative/historical aorist, which views the action in its entirety as a fact.


The active voice indicates that the third brother produced the action.


The indicative mood is declarative for a simple statement of fact.

Next we have the accusative direct object from the third person feminine singular personal use of the intensive pronoun AUTOS, meaning “her” and referring to the widow.

“and the third took her.”
 is the adverb of manner HWSAUTWS, which means “similarly.”  Then we have the continuative use of the postpositive conjunction DE, meaning “Now; Then” plus the adverbial or adjunctive use of the conjunction KAI, meaning “also,” followed by the nominative subject from the masculine plural article and cardinal adjective HEPTA, meaning “the seven.”  Next we have the negative adverb OU, meaning “not” plus the third person singular aorist active indicative from the verb KATALEIPW, which means “to leave behind.”


The aorist tense is a constative/historical aorist, which views the action in its entirety as a fact.


The active voice indicates that all seven brothers produced the action.


The indicative mood is declarative for a simple statement of fact.

Then we have the accusative direct object from the neuter plural noun TEKNON, meaning “children.”  Finally, we have the additive use of the conjunction KAI, meaning “and” plus the third person plural aorist active indicative from the verb APOTHNĒISKW, which means “to die.”


The aorist tense is a constative/historical aorist, which views the action in its entirety as a fact.


The active voice indicates that all seven brothers produced the action.


The indicative mood is declarative for a simple statement of fact.

“Then similarly the seven also did not leave behind children and died.”
Lk 20:31 corrected translation
“and the third took her.  Then similarly the seven also did not leave behind children and died.”
Mk 12:21-22a, “The second one married her, and died leaving behind no children; and the third likewise; and so all seven left no children.”

Mt 22:26, “so also the second, and the third, down to the seventh.”

Explanation:
1.  “and the third took her.”

a.  This clause belongs with the previous verse or the previous verse belongs with this clause (take your pick).  The point is that the verse breaks are not inspired and there is no good reason for the Greek text to be broken up like this, since there were no spaces between letters or words and no punctuation.  The only reasonable explanation for this situation is that Luke ran out of room at the end of one papyrus sheet in the middle of his sentence and had to continue the sentence on the next papyrus sheet.  No copyist who knew Greek would intentionally break the sentence into parts like this.


b.  Therefore, the entire sentence is this: “Now there were seven brothers; and the first, after taking a wife, died childless; and the second and the third took her.”  The same thing happened to the third brother that happened to the second brother and happened to the first brother—each brother took the previous brother’s widow as their wife and died before producing children.  This is all the Sadducees had to say to make their point, but they don’t stop there.  And Jesus, knowing their coming argument (because it was so obvious to Him) patiently allows them to continue without interrupting them, even though they are wasting His time.  He allows them to continue falling into their own trap.
2.  “Then similarly the seven also did not leave behind children and died.”

a.  The Sadducees continue their hypothetical illustration with a summary statement of what happened to the rest of the brothers.  The same scenario plays out for each of them.  They take the widow as their wife and then suddenly die before being able to produce children.  This pattern repeats itself with each of the seven brothers.


b.  The illustration is obviously absurd, since after the second or third brother the rest of the brothers would be wondering if the widow was a black widow, that is, a woman who is deliberately killing off each of her husbands.  I’d be looking for the poison in the house.  At some point the rest of the brothers would decline to fulfill their levirate obligation.


c.  However, Jesus doesn’t condemn the absurdity of the illustration, but lets it stand, so He can refute it in its entirety with all of its preconceived notions and assumptions.

3.  Commentators’ comments.


a.  “The sequence continues through a third brother and eventually all seven, none of them leaving any children before they die.  That none of them filled the need for an heir is not the point, as verse 33 makes clear.  The Sadducees are not concerned with the children, but with the issue of the spouses.  The childlessness just allows for the succession of husbands to continue until the family tree is exhausted, making the absurdity of the situation clearer in the Sadducees’ minds.”


b.  The Sadducees’ argument is: “Theoretically a woman might have several husbands in turn; so did not this make the idea of resurrection a nonsense?”
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